BID SUMMARY





This document is a summary of bids received for the subject project and is provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Annual Sidewalk Repair Program 2019-20

PROJECT NO.: 2019.0060 BID NO.: 19-20.004

BID O	PENING		ENGINEER'S I	ESTIMATE	Spencon Constr	uction, Inc	Rosas Brothers	Construction	JJR Construction	n, Inc.
DATE: October 22, 2019		Date Approved: 10/15/2019		4115 Blackhawk Plaza Cir. #100		4731 Coliseum Way		1120 Ninth Avenue		
	TIME: 3:00 p.m.		Prepared by:	Prepared by: P. Toste		Danville, CA 94506		601	San Mateo, CA 94402	
	LOCATION: City Clerk's Office				Phone: (925) 98	34-2581	Phone: (510) 53	34-1077	Phone: (650) 34	13-6109
					Fax: (925) 984-	2583	Fax: (510) 534-	5077	Fax: (650) 343-6207	
ITEM										
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
1	Mobilization per section 9-3.4	1 LS	\$50,000.00	\$50,000.00	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00	\$32,500.10	\$32,500.10
2	Install curb and gutter per drawing 100 case 3101	2,030 LF	\$99.00	\$200,970.00	\$98.00	\$198,940.00	\$105.00	\$213,150.00	\$121.59	\$246,827.70
3	Install sidewalk per drawing 100 case 3101	33,110 SF	\$22.00	\$728,420.00	\$17.00	\$562,870.00	\$21.00	\$695,310.00	\$18.89	\$625,447.90
4	Install 6" driveway per drawing 102 case 3101	5,310 SF	\$24.00	\$127,440.00	\$19.00	\$100,890.00	\$25.00	\$132,750.00	\$26.28	\$139,546.80
5	Install 8" driveway per drawing 102 case 3101	330 SF	\$27.00	\$8,910.00	\$21.00	\$6,930.00	\$30.00	\$9,900.00	\$36.85	\$12,160.50
6	Install wheelchair curb cut ramp per drawings 106A through 106D case 3101	7,250 SF	\$34.00	\$246,500.00	\$28.00	\$203,000.00	\$32.00	\$232,000.00	\$24.31	\$176,247.50
7	Install vertical curb per drawing 118 case 3101	50 LF	\$75.00	\$3,750.00	\$60.00	\$3,000.00	\$100.00	\$5,000.00	\$99.85	\$4,992.50
8	Install Concrete Apron per drawing 114 case 3101	200 SF	\$39.00	\$7,800.00	\$25.00	\$5,000.00	\$40.00	\$8,000.00	\$39.55	\$7,910.00
9	Install cast iron pipe curb drain per drawing 212 case 3101	20 LF	\$223.00	\$4,460.00	\$275.00	\$5,500.00	\$50.00	\$1,000.00	\$50.00	\$1,000.00
10	Remove and reset pavers at existing tree per drawing 436 case 3101	50 SF	\$41.00	\$2,050.00	\$40.00	\$2,000.00	\$40.00	\$2,000.00	\$50.00	\$2,500.00
11	Remove 4" Concrete and backfill with topsoil	620 SF	\$12.00	\$7,440.00	\$5.00	\$3,100.00	\$18.00	\$11,160.00	\$5.35	\$3,317.00







This document is a summary of bids received for the subject project and is provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Annual Sidewalk Repair Program 2019-20

PROJECT NO.: 2019.0060 BID NO.: 19-20.004

BID OPENING						Rosas Brothers Construction		JJR Construction, Inc.		
							4731 Coliseum Way		1120 Ninth Avenue	
ł	TIME: 3:00 p.m.		Prepared by:	P. Toste	Danville, CA 94		Oakland, CA 94		San Mateo, CA	
	LOCATION: City Clerk's Office				Phone: (925) 98		Phone: (510) 53		Phone: (650) 34	
			1817		Fax: (925) 984-	2583	Fax: (510) 534-	5077	Fax: (650) 343-	6207
ITEM										
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
	Provide traffic control plan and implement traffic control per section 601-2	1 LS	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$10,000.00	\$10,000.00	\$95,000.00	\$95,000.00
13	Remove existing pavers, trim roots, and install decomposed granite at existing tree well	5 EA	\$739.00	\$3,695.00	\$1,200.00	\$6,000.00	\$700.00	\$3,500.00	\$700.00	\$3,500.00
14	Install decomposed granite at empty tree well	5 EA	\$583.00	\$2,915.00	\$1,200.00	\$6,000.00	\$700.00	\$3,500.00	\$500.00	\$2,500.00
15	Furnish and install bicycle racks per drawing 618 case 3101	12 EA	\$715.00	\$8,580.00	\$750.00	\$9,000.00	\$1,000.00	\$12,000.00	\$800.00	\$9,600.00
16	Relocate Roadside Sign on New Post per drawing 136 case 3101	4 EA	\$675.00	\$2,700.00	\$500.00	\$2,000.00	\$500.00	\$2,000.00	\$500.00	\$2,000.00
17	Install New Roadside Sign on New Post per drawing 136 case	4 EA	\$800.00	\$3,200.00	\$750.00	\$3,000.00	\$600.00	\$2,400.00	\$700.00	\$2,800.00
18	Install Wet-Set Paver Driveway Conform	50 SF	\$50.00	\$2,500.00	\$45.00	\$2,250.00	\$60.00	\$3,000.00	\$50.00	\$2,500.00
19	Excavation resurfacing per drawing 122A, B, C case 3101: 6" thickness	200 SF	\$20.00	\$4,000.00	\$15.00	\$3,000.00	\$15.00	\$3,000.00	\$30.00	\$6,000.00
20	Excavation resurfacing per drawing 122A, B, C case 3101: 9" thickness	150 SF	\$25.00	\$3,750.00	\$20.00	\$3,000.00	\$20.00	\$3,000.00	\$38.50	\$5,775.00
21	Excavation resurfacing per drawing 122A, B, C case 3101: 12" thickness	100 SF	\$30.00	\$3,000.00	\$25.00	\$2,500.00	\$30.00	\$3,000.00	\$50.00	\$5,000.00 **
		TOTAL BASE BID	:	\$1,447,080.00		\$1,172,980.00		\$1,365,670.00		\$1,387,125.00 **







This document is a summary of bids received for the subject project and is provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Annual Sidewalk Repair Program 2019-20

PROJECT NO.: 2019.0060 BID NO.: 19-20.004

	שול שום	13-20.004									
BID C	PENING	ENGINEER'S ESTIMATE		Spencon Construction, Inc		Rosas Brothers Construction		JJR Construction, Inc.			
	DATE : October 22, 2019		Date Approved:	10/15/2019	4115 Blackhawl	k Plaza Cir. #100	4731 Coliseum	Way	1120 Ninth Ave	1120 Ninth Avenue	
	TIME: 3:00 p.m.		Prepared by:	P. Toste	Danville, CA 94	1506	Oakland, CA 94	4601	San Mateo, CA	94402	
	LOCATION: City Clerk's Office				Phone: (925) 9	84-2581	Phone: (510) 5	34-1077	Phone: (650) 3	43-6109	
					Fax: (925) 984-	-2583	Fax: (510) 534-	-5077	Fax: (650) 343-	6207	
ITEM					23- 32- 1						
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	
	REQUIRED DOCUMENTATION:		Bid Bond		YES		YES		YES		
			San Leandro Local Business		NO		NO		NO		
			25 % Participation		NO		YES		NO		
			Good Faith Effort		YES		N/A		NO		
			Agreement to be Bound		YES		YES		YES		
			Addendum #1		YES		YES		YES		
				2 1 ×							
	SU	BCONTRACTORS	:		TPR Traffic Solutions		Ransome Company		Pen Hall Company		
	SECURITIES:				10% Bid Bond		10% Bid Bond		10% Bid Bond		
		NOTES	:				1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		**Math Error C	orrected	

Reviewed by: Mass Statt Date: 10/24/2019

Michael Stella, Principal Engineer & Project Manager

BID SUMMARY





This document is a summary of bids received for the subject project and is provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Annual Sidewalk Repair Program 2019-20

PROJECT NO.: 2019.0060 BID NO.: 19-20.004

	BID NO 19-20.004			
	BID OPENING	ENGINEER'S ESTIMATE	Sposeto Engineering, Inc.	FBD Vanguard Construction, Inc.
1	DATE: October 22, 2019	Date Approved: 10/15/2019	4558 Contractors Place	550 Greenville Road
	TIME: 3:00 p.m.	Prepared by: P. Toste	Livermore, CA 94551	Livermore, CA 94550
1	LOCATION: City Clerk's Office		Phone: (925) 443-4200	Phone: (925) 245-1300
1			Fax: (925) 443-6800	Fax: (925) 245-1007

021			N 1, 1	Fax: (925) 443-	6800	Fax: (925) 245-1007		
ITEM NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
1	Mobilization per section 9-3.4	1 LS	\$50,000.00	\$50,000.00	\$28,000.00	\$28,000.00	\$192,280.00	\$192,280.00
2	Install curb and gutter per drawing 100 case 3101	2,030 LF	\$99.00	\$200,970.00	\$170.00	\$345,100.00	\$100.00	\$203,000.00
3	Install sidewalk per drawing 100 case 3101	33,110 SF	\$22.00 -	\$728,420.00	\$30.00	\$993,300.00	\$35.00	\$1,158,850.00
4	Install 6" driveway per drawing 102 case 3101	5,310 SF	\$24.00	\$127,440.00	\$31.00	\$164,610.00	\$37.00	\$196,470.00
5	Install 8" driveway per drawing 102 case 3101	330 SF	\$27.00	\$8,910.00	\$33.00	\$10,890.00	\$40.00	\$13,200.00
6	Install wheelchair curb cut ramp per drawings 106A through 106D case 3101	7,250 SF	\$34.00	\$246,500.00	\$30.00	\$217,500.00	\$50.00	\$362,500.00
7	Install vertical curb per drawing 118 case 3101	50 LF	\$75.00	\$3,750.00	\$129.00	\$6,450.00	\$106.00	\$5,300.00
8	Install Concrete Apron per drawing 114 case 3101	200 SF	\$39.00	\$7,800.00	\$42.00	\$8,400.00	\$40.00	\$8,000.00
9	Install cast iron pipe curb drain per drawing 212 case 3101	20 LF	\$223.00	\$4,460.00	\$300.00	\$6,000.00	\$16.00	\$320.00
10	Remove and reset pavers at existing tree per drawing 436 case 3101	50 SF	\$41.00	\$2,050.00	\$80.00	\$4,000.00	\$50.00	\$2,500.00
11	Remove 4" Concrete and backfill with topsoil	620 SF	\$12.00	\$7,440.00	\$18.00	\$11,160.00	\$5.00	\$3,100.00

BID SUMMARY





This document is a summary of bids received for the subject project and is provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Annual Sidewalk Repair Program 2019-20

PROJECT NO.: 2019.0060 BID NO.: 19-20.004

				ESTIMATE 10/15/2019 P. Toste	Sposeto Enginee 4558 Contractor Livermore, CA S Phone: (925) 44 Fax: (925) 443-	s Place 94551 43-4200	FBD Vanguard Construction, Inc. 550 Greenville Road Livermore, CA 94550 Phone: (925) 245-1300 Fax: (925) 245-1007	
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
12	Provide traffic control plan and implement traffic control per section 601-2	1 LS	\$25,000.00	\$25,000.00	\$96,000.00	\$96,000.00	\$184,000.00	\$184,000.00
13	Remove existing pavers, trim roots, and install decomposed granite at existing tree well	5 EA	\$739.00	\$3,695.00	\$1,200.00	\$6,000.00	\$640.00	\$3,200.00
14	Install decomposed granite at empty tree well	5 EA	\$583.00	\$2,915.00	\$975.00	\$4,875.00	\$640.00	\$3,200.00
15	Furnish and install bicycle racks per drawing 618 case 3101	12 EA	\$715.00	\$8,580.00	\$1,365.00	\$16,380.00	\$860.00	\$10,320.00
16	Relocate Roadside Sign on New Post per drawing 136 case 3101	4 EA	\$675.00	\$2,700.00	\$700.00	\$2,800.00	\$670.00	\$2,680.00
17	Install New Roadside Sign on New Post per drawing 136 case	4 EA	\$800.00	\$3,200.00	\$800.00	\$3,200.00	\$1,040.00	\$4,160.00
18	Install Wet-Set Paver Driveway Conform	50 SF	\$50.00	\$2,500.00	\$136.00	\$6,800.00	\$150.00	\$7,500.00
19	Excavation resurfacing per drawing 122A, B, C case 3101: 6" thickness	200 SF	\$20.00	\$4,000.00	\$102.00	\$20,400.00	\$20.00	\$4,000.00
20	Excavation resurfacing per drawing 122A, B, C case 3101: 9" thickness	150 SF	\$25.00	\$3,750.00	\$102.00	\$15,300.00	\$22.00	\$3,300.00
21	Excavation resurfacing per drawing 122A, B, C case 3101: 12" thickness	100 SF	\$30.00	\$3,000.00	\$102.00	\$10,200.00	\$24.00	\$2,400.00
		TOTAL BASE BID	:	\$1,447,080.00		\$1,977,365.00		\$2,370,280.00







This document is a summary of bids received for the subject project and is provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Annual Sidewalk Repair Program 2019-20

PROJECT NO.: 2019.0060 BID NO.: 19-20.004

DID O	PENING		ENGINEER'S	ESTIMATE	Sposeto Engine	ering Inc	EBD Vanguard	Construction Inc
lein o			The same of the sa		Sposeto Engineering, Inc. 4558 Contractors Place		FBD Vanguard Construction, Inc. 550 Greenville Road	
1	DATE : October 22, 2019		Date Approved:		The second secon			
1	TIME: 3:00 p.m.		Prepared by:	P. Toste	Livermore, CA		Livermore, CA	
	LOCATION: City Clerk's Office		Section 1		Phone: (925) 44	43-4200	Phone: (925) 2	45-1300
					Fax: (925) 443-	6800	Fax: (925) 245-	-1007
ITEM								A .
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
	REQUIRED DOCUMENTATION:		Bid Bond		YE	S	YI	ES
	•	_	San Leandro Lo	ocal Business	NO		NO	
			25 % Participation		NO		NO	
			Good Faith Effort		YES		NO	
			Agreement to b	e Bound	YES .		YES	
			Addendum #1		YE	S	YI	ES
-	SL	BCONTRACTORS:			None		None	
		SECURITIES:			10% Bid Bond		10% Bid Bond	
		NOTES:				2		• ·

Reviewed by:

Date: 10/24/2019

Michael Stella, Principal Engineer & Project Manager